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SECOND YEAR HIGHER SECONDARY MODEL
EXANMINATION, FEBRUARY 2025
Part - {11
GEOGRAPHY

Maximum : 60 Scores
(1 Map Attached)

Time : 2 Hours
Cool-oftf Time : 15 Minutes

General Instructions to Candidates :

» There is a 'Cool off time " of 15 minutes in addition to the writing time.
« Use the ‘cool off time "to get familiar with questions and to plan your answers.

* Read questions carefully before answerig. ;. ifls
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* Read the instructions carefully. MW e —

» Calculations, figures and graphs should be shown in the answer sheet itself.

o Malayalam version of the questions is also provided.
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SECTION - A

Answer all the questions from 1 to 6. Each carries 1 score. (6x1=6)

1. Identify the push factor from the following.
a) Unemployment b) Better job opportunities

c) Peace and stability d) Security of life

2. The human development approach proposed by the international labour organisation

a) Income approach b) Welfare approach

¢) Basic needs approach d) Capability approach

3. The port located on the Hugli river is

a) Mumbai port b) Kolkatha port
¢) Jawaharlal Nehru port d) Chennai port

4. The largest language family in India is

a) Sino-Tibetan Hsslive.in b) Indo-European
¢) Austric S—— d) Dravidian

S. The oldest known economic activity is ’

a) Mining b) Pastoralism

c) Agriculture d) Hunting and gathering

6. Lines drawn on a map to join places equal in terms of the time taken to reach them

1S
a) Isochrone b) Isobar

c) Isotherm d) Isohyet
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SECTION - A
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SECTION - B

Answer any 10 questions from 7 to 18. Each carries 2 scores. (10x2=20

7. Write a brief note on green revolution.

8. Complete the flow chart showing classification of minerals.

| Minerals l i -livein
‘ www. heslive.in

Non-metallic

B Non-ferrous D Other Non-metallic
.:Iron C T B * Minerals
Eg. : Iron Eg. - Eg.: Coal Eg. : Mica |

9. Ports can be classified into two on the basis of location. Identify them and give example

10.
11.

12.
13.

14.
15.
16.

17.
18.

for each.

Explain different mining methods.

In order to reduce the regional and social disparities in development, the Planning
Commuission introduced target area and target group approaches to planning. [dentify
four examples of target area programme implemented in India.

Define Technopolies.
Write any two basic differences between rural and urban settlements.

Explain the problems faced by slums.
Differentiate favourable and unfavourable balance of trade.

Transport distance can be measured in three ways. One is kilometre distance. ldentify
the other two ways and explain.

Prepare a short note on truck farming.

There are several problems faced by Indian agriculture. Identify and explain any two
of them.
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SECTION - B
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SECTION - C

Answer any 6 questions from 19 to 26. Each carries 3 scores. (6x3=18)

[9. Pomt out the advantages of non-conventional energy resources.

20. Identify the trans-continental railway line shown in the given map and mention any two

of its characteristics.
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21. Describe demographic transition theory with the stages.

22. “The concept of Neo determinism is very significant today”. Substantiate the
statement,

23. Rainwater harvesting is a method to capture and store rainwater for various uses.
Mention any three methods of rainwater harvesting.

24. The probability of not surviving till the age of 40 is one of the indicators to measure
human poverty index. Find out the other three indicators.

235. Prepare a brief note on the merits of air transport.
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SECTION - C
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26. On the basis of evolution in different periods, Indian towns can be classitied into three.

Complete the chart.
Historical background over 2000 years

N A
|
Eg . B
D
i) 3
Eg. : Jaipur
3
iii) E ‘\ “-\-,-"]]‘1 e
Eg. : Mumbai et
SECTION - D
Answer any 4 questions from 27 to 32. Each carries 4 scores. (4x4=16)

27. ldentity the agriculture system shown in the given map of the World and explain its

charactenstics by using the given hint.

Hint : The agricultural system practised by many tribes in the tropics.
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28. Explain the geographical factors influencing the population distribution.

29. Analyse the advantages of water transport.

30. Describe the four distinct phases of population growth in India.

31. Classify and explain manufacturing industries based on the raw materials used.

32. Identify and mark the following geo information on the given outline map of India.
a) The least densely populated state according to 2011 census.

b) A mining town in Assam.

| live
o ¢) The leading producing state of bauxiil-é.s’bl_1 v m, —
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f d) Largest container port of India.
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